Réveillon (Vichy) TH3 joker - Classement final

Réveillon (Vichy) TH3 joker : 5 joueurs

3 N1,5N2, 3N3, 17 N4, 10 N5, 7 N6

P1:1091 P2: 1288 P3: 1411 Cumul : 3790

P Joueurs Cat | S |Score| %S1 %S2 %S3 PP4 |Points
4 |GEVAERT Steeve S | 2B | 3464 | 0.00 | 100.00 | 100.00 | 37.00 84
5 |HUBERT Gérard \% 2A | 3391 0.00 80.00 | 100.00 | 36.00 82
7 |BUSSY Bernard V | 2B | 3280 | 0.00 40.00 | 100.00 | 34.00 78
10 |JALBERT David S | 2B | 3201 | 0.00 0.00 66.67 | 31.00 72
12 |HERRICK Isabelle S 2B | 3197 0.00 0.00 0.00 29.00 68
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